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SERIE N02 

Exercice N01 : 

Trouver la solution générale des équations suivantes : 

1) 𝑦′′ + 2𝑦′ − 3𝑦 = 4 + 𝑥 + 4𝑒2𝑥 

2) 𝑦′′ + 4𝑦′ + 4𝑦 = 2 − sin⁡(3𝑥) 

3) 𝑦′′ + 2𝑦′ + 𝑦 = 5 + 𝑥2𝑒𝑥 

4) 𝑦′′ − 4𝑦′ + 4𝑦 = 3𝑥2 + 2𝑒3𝑥 

5) 𝑦′′ + 4𝑦′ + 4𝑦 = sin(𝑥) − 2cos⁡(𝑥) 

6) 𝑦′′ + 4𝑦′ + 5𝑦 = sin⁡(𝑥) 

7) 𝑦′′ + 2𝑦′ + 2𝑦 = 1 + 𝑥 + 𝑒−𝑥 

8) 𝑦′′′ + 5𝑦′′ + 6𝑦′ = 3 sin(𝑥) + 5𝑥 + 𝑥 

9) 𝑦′′′ + 2𝑦′′ + 2𝑦′ = 2 − 4𝑥2 

10) 𝑦′′ + 2𝑦′ + 2𝑦 = sin⁡(𝑥) 

11) 𝑦′′ − 7𝑦′ + 12𝑦 = 𝑥 + 𝑒2𝑥 + 𝑒3𝑥 

12) 𝑦′′ + 4𝑦′ + 5𝑦 = 3 + 2𝑒−2𝑥 

13) 𝑦′′ + 2𝑦′ − 8𝑦 = 3𝑥. cos⁡(4𝑥) 

14) 𝑦′′ + 2𝑦′ − 15𝑦 = 3 + 2𝑥. sin⁡(𝑥) 

 

Exercice N02 : 

Trouver la solution finale des équations suivantes : 

1) 𝑦′′ + 6𝑦′ + 13𝑦 = 𝑐 cos(𝑥) ,⁡⁡⁡𝑎𝑣𝑒𝑐⁡⁡⁡𝑦(0) = 2, 𝑦′(0) = 1 

2) 𝑦′′ − 4𝑦′ + 5𝑦 = 𝑒2𝑥 cos(𝑥) ,⁡⁡⁡𝑎𝑣𝑒𝑐⁡⁡⁡𝑦(0) = 0, 𝑦′(0) = 0 

3) 𝑦′′ + 9𝑦′ = 7 + 2 sin(3𝑥) − 4 cos(3𝑥) ,⁡⁡⁡𝑎𝑣𝑒𝑐⁡⁡⁡𝑦(0) = −1, 𝑦′(0) = 1 

4) 𝑦′′ + 4𝑦′ + 5𝑦 = 𝑥 + sin(𝑥) ,⁡⁡⁡𝑎𝑣𝑒𝑐⁡⁡⁡𝑦(0) = −1, 𝑦′(0) = 0 

5) 𝑦′′ − 2𝑦′ + 5𝑦 = 1 + 𝑒−𝑥,⁡⁡⁡𝑎𝑣𝑒𝑐⁡⁡⁡𝑦(0) = 2, 𝑦′(0) = 0 

6) 𝑦′′ + 𝑦′ − 2𝑦 = 3 + 2cos⁡(𝑥),⁡⁡⁡𝑎𝑣𝑒𝑐⁡⁡⁡𝑦(0) = 0, 𝑦′(0) = 1 

 


